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1) - int ¢, maxd; maxd=degree[1];for(int i=1;i<12;i++)
if(maxd<degree[i) maxd=degree[i];
for(int 1 =0;1<12;i++) if(maxd==degree[i) c=c+1;cout<<” Max is”<<maxd<<" is found “<<c;

2) - int ¢, maxd; maxd=degree[0];c=0;for(int i=1;i<12;i++)
if(maxd<degree[i){ maxd=degree[i];c=c+1; cout<<” Max is”<<maxd<<” is found = “<<c;}
3) - int ¢, maxd; maxd=degree[0];c=0;for(int i=1;i<12;i++)

if(maxd<degree[i) maxd=degree[i];
for(int 1 =0;i<12;i++) if(maxd=degree[i) c=c+1;cout<<” Max is”<<maxd<<" is found “<<c;
4) +  int ¢, maxd; maxd=degree[0];c=0;for(int i=1;i<12;i++)
if(maxd<degree[i) maxd=degree[i];
for(int i =0;i<12;i++) if(maxd==degree[i) c=c+1;cout<<” Max is”<<maxd<<" is found “<<c;
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cin>>A[5]; - (1
pos[2]=3; - (2
cout<<A[pos[2]]; - (3

cout<<a[pos[3]]; + 4
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1f(a[3]>90) cout<<"Exce11ent", - (1
If(a[5]=0) cout<<"No Absent"; - (2
cout<<A[pos[3]]; + (3

pos[a[2]]=0; - (4
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int ¢, M[4][3]; pas[12];c=0; + (1

for(int i=0;1<4;i++)

for(int j=0;j<3;j++)

if(MIi][j]%2==0) { pas[c]-MI[il[jl; c=c+1;}
int ¢, M[4][3]; pas[12];c=0; - (2

for(int i=1;i<4;i++)

for(int j=1;j<3;j++)

if(MIi][j]%2==0) { pas[c]-MI[il[j]; c=c+1;}
int ¢, M[4][3]; pas[12];c=1; - 3

2/ 1 dsdall IARnenerm



el & ) seanll
claia 3—'&5

for(int i=1;i<4;i++)

for(int j=1;j<3;j++)

if{(M[1][j]%2==0) { pas[c]=M[i][j]; c=c*1;}
int ¢, M[4][3]; pas[12];c=0; - (4

for(int i=0;i<4;i++)

for(int j=0;j<3;j++)

if(M[i][j1%2—0) { pas[i=-MIil[j];}
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